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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0

minFVI
minFVO

Warning: col ['minFVliraw', 'minFVOraw'] is missing

~
o
1

[ ) ETcAlraw L4
1.24 ——  EToAl o ®
—e— ETcA ° °

®
Warning: col [ ETcA2raw’, 'ETcA2'] is missing
PY o

Warning: col [ ETcA2raw’, 'ETcA2avg’', 'ETcA2'] missing

0.0

4500 —@— ECopt

-0 ECI
—0— ECO

4000
3500

3000

\ Zo-o2 oo 858

4‘"\ U= mguy \FQS AT 0" 0 —0—0—-0—0—-0—-"0—0—0=—0=0=0=0=0=0=

2000

1500 I Warning: col ["ECC'] is missing

Warning: col ['PHC'] is missing

31.5 1 —@— WCperM
31.0 A

30. 5

30.0 —m—w&*—&w&—ﬁﬁwm—ﬂ

29.5

29. 0
Warning: col [ WCperMraw' , 'WCperMavg'] is missing
28.5 -

0.50 7-0—0-0-0-0-0-0-0-0-0-0-00-00-00-0000000000000-0000000000000000000000000000009000-1

0. 45

—@— minDeltaM
—0— avgDeltaM
—@— stdDeltaM

0.30 —m—w&*—&w&—ﬁﬁwm—ﬂ

1
1
0.25 4 :
1
1

1
1

1

i

1

1

1

0.40 - 1
1

1

1

0.35 4 I
1

1

0.20 7—0—00—-0-000-0-0-0-0-000-000000000000000000000000000000000000000000000000

30 -
28 -
26 -
24 -

22 A —@— begM

—0—  maxM

adjFVOR

-0. 02 ~

0. 04 1 Warning: c¢ol ["adjFVIRraw', "adjFVIR, "adjFVORraw' ] is missing

0.4 4
0 34 e FRA

([ J FRC

[ ) FRraw
0.2 4 o —— FR

—@— beg wc
58 1

56

54

52

50 A

48 -

[ postFgEtraw
300 1 —o— postFgEtavg
—@— postFgEt

250 -

200 ~

150

100 -

50 A




FgDaily




¥




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1 1 1 | 1 |
ETcl ETcldef ETcP ETcPT ETclis ESo

| 1
ETol ETbai

pR

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

VN

° °
1200 - ° ¢,
L)
1000 + (] e
o ¢ ° o °
800 - o o A
o °® .
n ® ® ..
600 e 0% oo 0%
D) °
400 - ® ® Y : ® () o
® °
° ° ® a0 ° o
200 ° 0o ° ¢’ oo
@ .) . . g‘
iy %°® _9 e0
0 - T T T T T T T T
_ [ ] ° ®
18007 g o 0’ ° s
1600 | o o, o . ® o °o¢
% ° ° ° ° ° 0.0 ab ©
o ® . e o Y @ Y¢0 &7 o,
14001 @ © ® “ ° ® ® °0 L ‘.‘ ° Y ..('o: o
° * ° oo
1200 +
1000 H{ @ ° ’ () ° * .. °
i ® ® e © o ©
800, 8 % o%o
500 - ° ° °
400 0. () & .oO o ®
° ° °
21 o o °® ° S
° ° o
ol S e ° ® o® o
20 a%® o ° a0’ 8%¢ % ° S ¢
°e PO e © °e s ° ¢ o 3)'
e oo ¢ ° e%e
° @ ° ° ® oo e ©®
° ° °
161 00 0° A ® e ® o ° ° ° © o
e o ® ) ® o
14 1 ° ° ° ° °
° ° °
12{0° ¢ ®°e
T T T T T T T T T T
80— Y { ] ‘. Y (] - .. ® { ]
70 ° ° °
1 ° ° ° °
° ® . ° ® e ° e ° ° ®
@ @ (1 o L) ) [ @,
604 @ o0 g M u.)O ® ® (.. Y ..0 ®
= e O o L o0 . e O oo ° o0 °
%® © o0 ° ®el0e 0o * % o %2 e%2 0
] oL o o o0 on
50 ° .. .; ... .q‘a.ﬁ L ®e o ® :. e o ° ..=O?.
40 - % o ¢ o o ¢ P ¢ o o
e 0o ® o ®e0 o ° o %
H H ° %
T T T T T T T T T T T T T T
° ° ®
] ° ° ° e
1000 + ) ) ® ®
° ° ° °
800 - ° ® o °® .
° ° ° °
° ° ° °
600 - % ° o °e * R
'5.0 : ° ® o ° ° . 4
400 + ..0,0 o0 o © ° oo . °® o o . °«° o K
200 ~ .6:: e o.. ¢ o: .: ° o® .0..0 . ° « * y ‘.. :‘
e °% o s o ° oo e o o° Qe o Q?
4007 oo ° o %% o ® % Lo ’ o, S0 0 o ®co
350 {1 ofe @ e . 2. oo ® o W 0%, 1%m, 00 % > e’ o° % o °
v ° ® oo®e & e % ® ® e o oo o O o
(O. Oo. - .. O. ) o0 °
300 - o o ° o of . 0 ® %®
° . ° o o o® ° oo o0 © "% ° 0 *, °
250 4 ® ° ° 4 °
o °® o ® . ° ° . . °
° ° ° ° °
200 { ®e ° o0 ® ° ° ® . ® e o % °
150 4 E
° ° ° ° °
100 4 E
° ° ° ° °
50 ® ® ® - ® ®
T T T T T T T T T T T T T T T
0 500 1000 500 1000 1500 12.5 15.0 17.5 20.0 22.5 40 60 80 500 1000 100 200 300 400
ETcl ETol T RH VN |



® obs
2500 Fit
2000
1500 A
1000 ~ ()
mﬂ’
500 ~ m
;I"' 1
|" ’
0 i T T T
0 50 100 150
baiA baiB
0.9756 0. 0386
1.0
0.8 A
0.6
0.4
0.2+
0. 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.

obs

1400 A

1200

1000 ~

800 -

600

400 -

200 -

Fit vs obs: a=1.21,

b=-139. 54,

r=0. 95

1.0

500

7
Fit

50

1000

1250

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

:30 -

:00 -

120

120

115

:10

:10

115

100

:00 -

80

- 60

- 40

20

‘%‘% "/é 4 S




P3-6

BFE) | GEBRTIK () | =S (EF/F) | XS R

07:35 273 150.0 5| TiHe07:35 REEF (KEAERSE)
08:25 273 150.0 5| THAe08:25 KENFERF (RFI1EREE)
09:15 273 150.0 FR| FHA@09:15 RENFZF (KRFAAIRES)
10:20 2173 150.0 FA| FnHA@10:20 KRFFEF (KAERKE)
11:20 273 150.0 FA| FiHA@11:20 KREFEF (KREAEES)
12:15 273 150.0 FA| FnHR@12:15 REIEF (REAERES)
13:10 273 150.0 FA| hHR@13:10 KRHMIEHF (CRALESR)
14:10 273 150.0 FR| FHA@14:10 KREFZF (KRFAEES)
15:15 273 150.0 FA| FnHR@15:15 KEIEF (REAERES)
21t 2457.0 (97%) 1350.0 3203 %EC: 2080.0, PH: 6.0

FEREBIEC (2610.0) HiZFEEC (2000.0) REK K, HHRE
#H[ERECE (2610.0 vs 3735.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=44 (2025-05-12)

VI, VO/%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1500
316

40

00 00

1172

- 2000

- 500

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

a00

300 -

200 -

100 A

ByWoFv @D44

1.0

2000

- 1500

- 1000

- 500

0.8 -

N ERS

0.6 1

0.4+

0.2~

600 -

400 -

200 -

', 'PPFD_obs’] is missing

\ A A Warhing:,‘:ol

25 A

20 -

15

.~ "To_obs'] is missing

10
80 A

70

60

50 A

"RHo_obs’] is missin

—— RH Warning: col ['RH obs’,

.0 0.2 0.4

0.6

0.8

1.

0

- 1500 —

- 1000 £

FRV

cumET (ml/plant)



hour

:00 -
140 -
:00
:45

:00
:00
155
140
125
:20
110
:05

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

@f%$
- %
%

%

%



P3-6

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:00 273 150. 0 E[  BRi%e07:00 Ba1 (RAERSE)
07:45 273 150.0 F BRi%e07:45 Bz (GREERE)
08:55 273 150.0 =] {Ri%@08:55 B (KRR
10:00 273 150. 0 F BRi%e10:00 Bz (GRAERERE)
11:00 273 150.0 5| 1Ri%e11:00 B (REMERER)
11:55 273 150.0 = RRiB011:55 Bz (REAKEEE)
12:40 273 150. 0 E BRige12:40 Bz CGRAERESE)
13:25 273 150.0 5| {Ri%e13:25 B3 (RAERSE)
14:20 273 150.0 5| Rike14:20 Bz (REERS)
15:10 273 150. 0 E BRi&e15:10 Bz CGRAEREE)
16:05 273 150. 0 El BRi&e16:05 Bz (GGRAEREE)
23+13003.0 (11%) 1650. 0 3 3FKEC: 2080.0, PH: 5.8

REREBTEC (2650.0) H5iZEEC (2000.0) REK K, HHE

##[ERECE (2650.0 vs 3925.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=43 (2025-05-11)

T e g g g S S S B S

100 A

50

200 4

150 +

100 A

1\7/0|(3 VvBP%RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

192

80
Warning: lcol [FVI',| "FVO’'] missing

50 A

I
111 1 11

=

- 500

-0
4 30

- 28

M_E

- 26

- 24

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 A

400 5

p——
0

]
Bylnit @D4402:56: ET=1903 Fg=2550.0 Ro=701.0

1 2 3 4 5 6 7 8 9 10 11 12

13

- 3000

- 2000

- 1000

16

17

19

21

22

23

B[ [ [ [/ [ [ [/ ||| || A

E3
B

£3

B

E3
B

3

E3
B

E3
B

ES
5]

3000

300 -

200 -

100 A

400

l

ByEt @43 19:08: ET=1786 Fg=1560.0 Ro=nan

|

- 2000

- 1000

1 2 T 3 4 5 6 7 8 9 10 11 12

13

15

21

23

B[ [ [ [/ [ [ [/ ||| || A

E3
B

ES
5]

ER

%=

300 -

200 -

100 A

i
ByWoFv @D44102:56: ET=1475 Fg=1650.0 Ro=217.0

i |

ﬁy

o—o—o—o—o

3000

- 2000

- 1000

13

14

15

16

17

18

19

20

21

22

23

0.8

e
1.0—'T‘
i

E3
B

E3
B

ES
5]

£3

B

E3
B

E3
B

ES
5]

=
B

ER

%=

%=

0.6

0.4+

0.2~

0.0
1500 4

1000 ~

500 -

A

| _obs
PPFD_obs

30 -

20 A

10

T

T obs
To_obs

80 7

RH
[ ] RH_obs
(] RHo_obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.

26.

25.

25.

25.

25.

25.

25.

26.

26.

26.

26.

25.

45.

44.

44

43.

43.

860
m=645,n FV0=0

T T
650 655

m=880,m FV0=0

885 890

m=495,m FV0=0

500 505

26.

25.

25.

25.

25.

25.

26.

25.

25.

25.

25.

26.

26.

26.

26.

25.

45.

45.

45.

45.

44,

m=495, FV0=0

T T
500 505

m=705,m FV0=0

T T
710 715

m=945,m FV0=0

950 955

m=530,n FV0=0
5é5 5&0

m=530, FV0=0

26. 00 ~

25. 95

25. 90 A

25. 85

25. 80 A

T T
535 540

m=755,m FV0=0

26. 2

26.0

25. 8 -

25.6

T T
760 765

m=985,m FV0=0

26. 7

26. 6

26. 5

26. 4

26. 3

990 995

m=580,m FV0=0

45.6

45. 4

45.2

45.0

44.8

44.6

585 590

25.

25.

25.

25.

25.

25.

25.

26.

26.

26.

25.

25.

45.

44,

44,

m=580, FV0=0

60

55 A

50 -

45 A

40 -

35

30 A

5é5 5é0
m=810,m FV0=0

815 820

800

m=645,m FV0=0
—0—
0 -
5 -
0 -
645 650 655




m=705, FV0=0
—— MW
44.5
44.0
43.5
T T T
705 710 715
m=945 m FV0=0
507 o
44.5
44.0
43.5 -
T T T
945 950 955

m=755, FV0=0

44.5 -

44.0 -

43.5 A

——

M_W

T
755

7é0 7é5
m=985,n FV0=0

45. 75 A

45. 50 A

45. 25 A

45. 00 A

44.75 A

44.50 A

—0—

M_W

T
985

T
990 995

m=810, FV0=0

—— MW
44.5
44.0
43.5
43.0
T T T
810 815 820

m=880, FV0=0
—— MW
44.5
44.0
43.5 -
43.0 -
T T T
880 885 890




hour

:30 -

140

145

:00

:00

:55

140

125

:15

:20

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%\
T
Y
%

@f%$
%
%

%

3,



P3-6

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:40 278 150.0 FE| 1BRi&@07:40 Bzh (RAEESE)
08:30 278 150.0 FA| 1BRi&@08:30 B3 (AKAFEREE)
09:45 278 150.0 PA| {Ri%@09:45 B (kAR
11:00 278 150. 0 5 {Ri%e11:00 Bz (RAERSE)
12:00 278 150.0 =l {Rige12:00 B3 (RAERSE)
12:55 278 150.0 =l RRiBe12:55 B (REAKEE)
13:40 278 150. 0 5| 1Ri%e13:40 B CGREMERE)
14:25 278 150.0 E| {Rige14:25 Bzh (RE{EREE)
15:15 278 150.0 (& =| 1BRige15:15 Bzh (REERESE)
16:20 278 150.0 El BRige16:20 Bzl (GRAERERE)
2it]2780.0 (100%) 1500. 0 32 03KEC: 2080.0, PH: 5.6

REREBTEC (2665.0) 5iZEEC (2000.0) REK K, HHE

1##[EKECE (2665.0 vs 4200.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=42 (2025-05-10)

T e g g e S B S g g
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

100 A

50
310 348
114

( mom v
FRV

200 A

150 -

100 -

50 A

34

Warning: lcol ['FVI’,

"FVO' ] missing

80

1.0

Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

%08 -

200

100 A

3083 0

3

4

5

6

7

]
Bylnit @D4402:56: ET=1547 Fg=2100.0 Ro=528.0

12

3000

- 2000

- 1000

15 ] 16 ] 17 ] 18 | 19 [ 20 | 21 | 22 | 23 | 3000

FH | PA

A

A

A

FA

A

=
B

ES = E3 E3 ES = E3 E3 ES
5] B B B 5] B B B 5]

200 4 ByEt @D42 19

100 A

:08: ET=2009 Eg=1771.0 Ro=nan

=2
0

308 3 1

8
2

2
3

4

5

6

7

8

i1 4

9

10

11

12

13

14

- 2000

- 1000

16 ] 17 ] 18 ] 19 [ 20 | 21 | 22 | 23 | 3000

FH | PA

FA

A

A

A

FA

A

A

A

%=

ES
5]

£3

B

E3
B

E3
B

]
200 4 ByWoFv @D44102:56: ET=1311 Fg=1500.0 Ro=224.0

100 A

1'0_!;’

|« Z8i

- 2000

- 1000

0l AT

8
2
T

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo_obs

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



T
600

T T
800 1000

m=635,m FV0=0

26.

26.

26.

25.

—o— M_E

6&0 6&5
m=835,n FV0=0

26.

26.

26.

26.

26.

26.

—o— M_E

845

840

600

800 1000

25.

25.

24.

26.

26.

25.

25.

26.

26.

26.

26.

26.

26.

26.

43.

43.

42.

42.

41.

m=475, FV0=0
- ME
5 .
0 .
5 .
475 480 485
m=700,m FV0=0
- ME
2 .
0 .
8 .
6 .
700 705 710
m=880,m FV0=0
61 —o— ME
5 .
4 .
3 .
2 .
1 .
0 .
880 885 890
m=475,m FV0=0
51 —e— MW
0 .
5 .
0 .
5 .
475 480 485

26.

26.

26.

25.

25.

25.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

44.

44.

44,

43.

43.

43.

43.

m=530, FV0=0

—o— ME

5é5 5&0
m=745,n FV0=0

—o— ME

i

7éO 7%5
m=935,n FV0=0

60

55

50 A

45 A

40 -

—o— ME

937.5

942.5 945.0 947.5

m=530,m FV0=0

940.0

50 ~

25 -

00 ~

75 -

50 A

25 A

00 -

- MW

1
i

530 535 540

26.

26.

26.

25.

25.

25.

26.

26.

26.

25.

26.

26.

26.

26.

26.

26.

26.

44.

44,

44,

44,

43.

43.

m=573, FV0=0

—o— M_E

5é0 5é5
m=795,n FV0=0

—o— M_E

860 865
m=1000m FV0=0

—o— M_E

10b5 1610
m=575,n FV0=0

1000

61 —o— MW
4_
2_

0_

575 580 585



44,

44,

43.

43.

44.

44

44,

44

44,

43.

m=635, FV0=0

—0—

MW

T
635

6&0 6&5
m=835,n FV0=0

—0—

M_W

T
835

T
840 845

m=700, FV0=0

44.5

44.0 -

43.5 A

43.0 -

—— MW

T
700

765 7%0
m=880,n FV0=0

45. 00 -

44.75 A

44.50 A

44.25 A

44.00 -

43.75 -

—— MW

T
880

T
885 890

44.

44

44,

44,

43.

43.

43.

m=745, FV0=0

75 4

50 -

25 -

00 ~

75

50 -

25 A

—0—

MW

745

760 7%5
m=935,n FV0=0

45.2

45.0

44.8

44.6 -

—0—

M_W

937.5

T
940.0

T T
942.5 945.0

m

T
947.5

44,

44.

44,

44,

43.

43.

43.

45.

45.

45.

44.

44.

44.

75 A

50

25 -

00 -

75 A

50 -

25 A

50

25 A

00 -

75 A

50

25 A

m=793, FV0=0

—0—

MW

T
795

860 865
m=1000m FV0=0

—0—

M_W

T
1000

T T
1005 1010




100
8:55 -
80

- 60
10:30
11:30
I I

hour

- 40

|||| “T 20
-0

B

%

4 @&% P R, PSR
&Zr{ﬁ_@ %gﬁ\@,&@&w}é@%@&z@@

S )
-:i%'\ B\ g



P3-6

BfiE) | EBIATK (7)) | ERE (EA/HK) | XK ERF

10:30 268 150.0 FA| 1BRi%@10:30 B3h (KRAHEREE)
11:30 268 150.0 |/\fg| {Ri&e11:30 Bzh (GRE{ERELEE)
2it| 536.0 (2%) 300.0 3 UHKEC: 2080.0, PH: 5.6

FEREBIEC (2620.0) HiZFEEC (2000.0) REK KA, HHRE
#H[ERECE (2620.0 vs 4085.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=41 (2025-05-09)

1500

LR S e it e
VI, VBB®BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1050

100 - 06 - 1000

- 500

_ 419
50 w0 310 34§
Warning: lcol [FVI',| "FVO’'] missing 114
0 r0

200 4w Vi — ME P39

I i Al ! A II """" | [N A I I AN I IR [ s .

100 - _I
50 — — i — i R : - 26

24

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

1
300 4 Bylnit @D44102:56: ET=904 Fg=1200. 0 Ro=330.0 1500

- 1000

- 500

¥
0 - o \I—_II\ —— 0

0 1 2 3 4 5 6 7 8 9 10 11

2l N
=
=
H
=
=
H
H

S0OTXm|[ BB | BA | ™ | ™ | FA | M | W | W | W | m B | BH | BH [ 1500
1
ByEt @D41 19:08: ET=498 Fg=310.0 Ro=nan I
200 - | - 1000
|
100 - o—e—e—o 500
e —o—o oo o oo
0_;’;;27—r—:/f_.—./ I — 1 0
0 | 1] 2 | 3] % | 5] 6] 7] 8] 9 [10][ 11 [12][138]14]15]16] 17 18] 19 ] 20 | 21 | 22 | 23

300X | BB | BA |/Nmv |/ia| BB | /s | /Nmi| BB | FB | BR | /Nwd | /I\Fn | P59 | Berm | P |Pera| BB | BB | FA | BB | BA | BB | BA | 1500

1
ByWoFv @D44102:56: ET=419 Fg=300.0 Ro=6.0

200 - : - 1000
|

100 - : - 500
1

1.0 0

oadAM| B [ BH ||| BA A [vEa| BA | BA [ BH |/l | /vEl (B | PSRl | Pma (Bera | BH | BA [ P | BH | BA [ FH | BA

0.6

0.4+

0.2~

0.0
—_— 4
600 (] | _obs

—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26. 50

26. 25

26. 00

25.75 A

25.50

25. 25 A

M_E

T
500

T
550

660 6é0
m=515,n FV0=0

700

44.0 -

43.5

43.0

42.5

42.0

——

M_W

T
515

T
520 525

26.

26.

26.

25.

25.

25.

25.

44.

44,

44.

44,

44.

m=513, FV0=0

—o—

M_E

T
515

T T
520 525

m=670,m FV0=0

——

M_W

T
670

T
675 680

m=670, FV0=0

26. 6

26.5 -

26. 4

26. 3

26. 2

——

M_E

670

T
675 680

45.

44,

44.

43.

43.

42.

42.

M_w

T
500

T
550

T
600

m

T
650

T
700




hour

100

7:50 -
8:00 80
9:00

- 60
10:45

- 40
11:55
14:00

I I I I I I I

% S & N IR R
@f Q/% _%% & @6‘ @v&@%&, PR ,@-Qé_\@

-:i%_'\ A4 N



P3-6

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS R

08:00 278 150.0 |Z=| 1BRi%@08:00 Bzh (KHEERESE)
09:00 278 150.0 & =| 1Ri%@09:00 Bzh (KABMHEREE)
10:45 278 150.0 & =| 1Ri%@10:45 Bz (kAEREEE)
11:55 278 150.0 = {Ri%e11:55 B (REAERSE)
13:00 278 150.0 |Z=| 1BRiZe13:00 Bzh (REERESE)
14:00 278 150.0 & =| 1Ri%@14:00 B3h (KRAHEESE)
Bit]1668.0 (6%) 900.0 3ZHKEC: 2080.0, PH: 5.6

REREBIEC (2625.0) H5iZZEEC (2000.0) REK K, HHE

#H[ERECE (2625.0 vs 3695.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=40 (2025-05-08)

L e e o I e T R e e e L 2000
Yo VO/¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 - 12
i 1050 127 >
99

50 A =

Warning: lcol [FVI',| "FVO’'] missing 190

200 3

150 -

100 -

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

]
300 4 Bylnit @D44102:57: ET=1109 Fg=1200.0 Ro=246.0 [ 1500

o—o—o o

200 - 1000

100 A

T
()]
o
o

cumET (ml/plant)

py —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

cumET (ml/plant)

R N O 0 0 0 0 0 G G M
200 - ByEt @D40 18:37: ET=916 Fg=1127. 0 Ro=nan ° ® : ° i i +4 000
1
100 - = i - 500
e —e—e e e ¢ 1| [ N :

0 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23
301 W | 1 | W |22 |321321272132122521%32] % | % (225210 | W (Ao B [ B [ B [ B[ B[ B |50

]
ByWoFv @D44:02:57: ET=899 Fg=900.0 Ro=108.0

cumET (ml/plant)

200 - —© R
: 33 [
1

100 1 ! '\\ 500
1

1.0 —a o Y e — P 0

0sl B | W | B 22|22 5212232122122 |52| % | % |25 W | B [Am| B [ B [ W | B[ B][H

0.6

0.4+

0.2~

0.0

—_— 4
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

2.5 1 ~ e e f
' ®




26.5 -
26.0 -
25.5 -
—o— ME
i B
T T T T T
500 600 700 800 900
m=740,m FV0=0
—o— ME
26.2 -
26.0 -
25.8 -
25. 6 -
25. 4 -
T T T
740 745 750
m
44
43
42
41 4
40
39 4
—o— N
)| W
500 600 700 800 900
m=740,m FV0=0
3.0 o wy
42.5 -
42.0 -
41.5 -

740 745 750

26.

26.

26.

25.

25.

25.

25.

26.

26.

26.

25.

43.

43.

42.

42.

41.

43.

42.

42.

41.

m=515, FV0=0

- ME

5é0 5&5
m=795,n FV0=0

—o— ME

T T
795 800 805

m=515,m FV0=0

—— MW

550 5é5
m=795,n FV0=0

515

-— MW

ﬂ
w

795 800 805

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

44.

44,

43.

43.

43.

43.

43.

43.

43.

42.

42.

m=575, FV0=0

60

55 A

50 -

45

40 -

35 A

30 A

—o— ME

5é0 5é5
m=855,n FV0=0

—o— ME

SéO 8é5
m=575,n FV0=0

M_W

550 5é5
m=855,n FV0=0

575

- MW

855 860 865

26.

26.

25.

25.

25.

26.

26.

26.

26.

43.

43.

42.

42.

44

43.

43.

42.

m=665, FV0=0
—o— ME
2 .
0 .
8 .
6 .
4 .
6é5 650 655
m=930,m FV0=0
—o— ME
6 .
4 .
2 .
0 .
930 935 940
m=665,m FV0=0
51 —e— MW
0 .
5 .
0 .
665 650 655
m=930,m FV0=0
07 - MW
5 .
0 .
5 .

930 935 940




